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Time : 3Hrs.

Full Marks   : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Sem. IV - (CSE)

DBMS
What are ACID properties ? Explain the ACID 
properties of a transaction management .
 

normalization techniques with suitable example 
in detail.

and 3NF in normalization .

OR( )

8
9.

8.

8

OR( )
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7.

Answer all Five Questions. 
8x5=40

How can you recover data from catastrophic

failures ? Explain in detail .8
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)Data Independence means .
(a) Data is defined separately and not 
      included in programs.
(b) Programs are not dependent on 
     physical attributes of data.
(c) Programs are not dependent on logical 
     attributes of data .
(d) both (b) and (c)

database .
(a) Schema
(b) Application Program
(c) Data definition language
(d) Code

(i)

What is Normalization ? Name the different 
normalization technique .

6. 

OR()

4
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(iii)

(iii)

(iv)

(ii)

A relational database developer refer to a 
record as .
(a) A Criteria
(b) A Relation
(c) A Tuple
(d) An Attribute

which provides data to client stored on 
disk pages is called .
(a) Transaction Server
(b) Functional Server
(c) Disk Server
(d) Data Server

Explain E-R model with suitable example .

classification of the query language .

aggregate functions supported by SQL .

4.

4

OR( )

OR( )

4

5.
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(v)

(v)

(vi)

(iv)

Non procedural language and procedural
language are classified as types of .
(a) Data Manipulation language
(b) Internal Mapping language
(c) Logical Path language
(d) External Mapping language

a attribute consisting of first name , middle
initial , and last name . This type of 
attribute is called. 
(a) Simple Attribute
(b) Composite Attribute
(c) Multivalued Attribute
(d) Derived Attribute

Answer all Five Questions. 

2.

4x5 =20

4
What is data independency ? Why is it essential ?

Discuss the main activities of each in brief.

DBA ?

OR()

OR()

3.
4
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(vii)

(vii)

(vi)

Which of the following can be a multivalued
attribute ?
(a) Phone Number
(b) Name
(c) Date of Birth
(d) All of the metioned

compared to earlier data models such as .
(a) Network Model
(b) Hierarchical model
(c) Semi structured Model
(d) Both (a) and (b)

The simplest approach to introducing 

redundancy to duplicate is to duplicate 

every disk is called :-

(a) Mirroring

(b) Imaging

(c) Copying

(d) All of the above

(xx)

(viii)

(xx)
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(ix)

(ix)

(viii)

attribute values are .
(a) Update 
(b) Dependent
(c) Changed
(d) Never Changed

equality operator .
(a) Equijoin
(b) Cartesian
(c) Natural
(d) Left

(xix)

(xix)

A Tuple is a(n) :

(a)  Column of a table

(b)  Two dimensional table

(c)  Row of a table

(d)  Key of a table

a(n)

most space efficient ?

(a)  Full Backup

(b)  Incremental Backup

(c)  Differential Backup

(d)  All of the mentioned

(xviii)

(x)

(xviii)

O4020O4020
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(xi)

(xi)

expressed as .

(a) {t | p () | t }

(b) { p (t) | t }

(c) {t | p (t) }
(d) All of the mentioned

length character string and varchar (n) is ....
........ length character .
(a) Fixed , Equal
(b) Equal , Variable
(c) Fixed , Variable
(d) Variable , Equal

(xvii)

Which is a bottom-up approach to database
design that design by examining the 
relationship between attributes :
(a) Functional Dependancy
(b) Database Modeling 
(c) Normalization
(d) Decomposition

then it is also true that :

(b) B®C
(c) (A,B) is a composite determinant
(d) C is a determinant

(x)(xvi)

(xii)

(xvi)

(xvii)
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(xiv)

(xiii)

(xiii)

char (n)

Inset into instructor values ( 10211, ‘Smith',
‘Biology’ , 66000) ;What type of statement 
 is this?
(a) Query
(b) DML
(c) Relational
(d) DDL

Inset into instructor values ( 10211 , ‘Smith,'
‘Biology’ , 66000) ;

the structure of the relation , deleting 
relations and relating schemas ?
(a) DML
(b) DDL
(c) Query
(d) Relational Schema

Empdt 1( empcode , name , street , city ,
state , pincode )
for any pincode , there is only one city and state
Also, for given street , city and state , there
is just one pincode . In normalization terms,
empdt 1 is relation in
(a) 1 NF only
(b) 2NF and hence also in 1NF
(c) 3NF and hence also in 2NF and 1NF
(d) BCNF and hence also in 3NF , 2NF 
      and 1NF

Empdt 1( empcode , name , Street , City ,
State , Pincode )Pincode

(xii)(xiv)

(xv)

(xv)

O4020O4020
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What is meant by the term query processing ?
What are the various steps involved in this 
process ? Explain in detail .

system .

of storage manager and define the purpose of 
storage manager ?

8

OR( )

8

10.

11.

What is meant by the term query processing ?
What are the various steps involved in this 
process ? Explain in detail .

system .

of storage manager and define the purpose of 
storage manager ?

8

OR( )

8

10.

11.

O4020 O4020
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What do you understand by Data Abstraction ?
Explain the different levels of Data Abstraction in
detail .

***

OR()

What do you understand by Data Abstraction ?
Explain the different levels of Data Abstraction in
detail .

***

OR()

O4020O4020
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